/ Z ﬂ / E ﬂ M ﬂ )( EAPLODED DRAING

MATERIAL CARBON
PP1 91 6 I C WHEELSIZE 700C/ MAX. 28MM TIRES
FORK LENGTH 392MM / RAKE 46MM, MAX ROTOR: 160MM,
WIDTH 100MM/ 8 12MM
HEADSET UPPER IS 52-42, LOWER IS 52-40
BOTTOM BRACKET PP86
SEATPOST/ SEATCLAMP ZALCO SEATPOST/ CLAMP, MINIMUM INSERT: 100MM
BRAKEMOUNT FLATMOUNT DIRECT 16MM, MAX ROTOR: 160MM
REAR AXLE WIDTH 142MM /0 12MM

MAX SYSTEM WEIGHT 110K6

POS  PART# PART NAME ary
0 KDISI9A SHIMANO DIRECT MOUNT HANGER RR 1
0 KDIzB9Tsne ROAD HANGER PBF-43-37 1
0 KDIZBAI90% 1ZALCO SEATPOST CLAMP ]
0 KDIZ6318084 \ZALCO SEATPOST 15MM SETBACK ]
B KDIS9I700] RAT EVO INSERT ]
06 KD3zB917006 RAT. DCW MAX 14 SCREW i
0 KD3ZB9NT005 RAT. DCW MAX10 SCREW i
0B KD1ozI9010 RAT EVO 2 REAR 142X 12 1
0 KDI61219014 RAT EV0 2 FRONT 100X12 1
0 KD3B9N91T] OCW D12 CABLE PLUG i
1 Ko3B9I9100 JAGWIRE CCNOT5 PLUG BLIND (ETAP) !
17 Ko3s9I8278 JAGWIRE CCNOO-1 DI2 PLUG 1
13 KDaS916165 JAGWIRE CCNOD9 DI2 PLUG BLIND (ETAP] 1
1 Ko3zey19904 1ZALCO OT PLUG DI2 !
15 KD326919905 1ZALCO DT PLUG BLIND (ETAP) !
T M3X 10 COUNTERSUNK SCREW

17 KDI99119009 FOCUS BOTILE CAGE SCREW MEX 18 1
18 KDI20620010 COMPRESSION DEVICE FOR CARBON FORK STEERER 1
19 KD120420999 ACROS 1ZALCO MAX HEADSET SET 1
0 KD12042099%5 IZALCO MAX SPACER SET 2X 10MM: 2X5MM, TOPCAP 1
e Eggggggg;’ IZALCO STEM COVER SHORT/ MEDIUM 1
2 KDIZ0ZI9043-047  1ZALCO STEM 80/90/100/110/120 1
B KDIB920040 1ZALCO SEATCLAMP COVER 9-/ 8-SERIES 1
% KoUI09I600 NOICE CANCELLING TUBE 1

IZALCO STEM COMPUTER MOUNT FOR GARMIN,

25 KD120219800

WAHOO AND POLAR

-
FOoOCUus



[L0L00 MAX

PP1918 | C
MATERIAL CARBON
WHEELSIZE 700C/ MAX. 26MM TIRES
FORK LENGTH 392MM / RAKE 46MM, MAX ROTOR:

T60MM, WIDTH 100MM /@ 12MM

HEADSET UPPER IS 52-42, LOWER IS 52-40
BOTTOM BRACKET PP86
SEATPOST/ SEATCLAMP ZALCO SEATPOST/ CLAMP, MINIMUM INSERT: 100MM
BRAKEMOUNT FLATMOUNT DIRECT 16MM, MAX ROTOR: 160MM
REAR AXLE WIDTH 142MM /0 12MM
MAX SYSTEM WEIGHT 110KG
POS  PART # PART NAME aty
01 KD325919141 SHIMANO DIRECT MOUNT HANGER RR 1
02 KD325915006 ROAD HANGER PBF-43-37 1
03 KD125419024 IZALCO SEATPOST CLAMP 1
04 KD125318084 IZALCO SEATPOST 15MM SETBACK 1
05 KD325917002 R.AT EVO INSERT 1
06 KD325917006 R.A.T.DCW M4 X14 SCREW 1
07 KD325917005 RAT.DCW M4 X10 SCREW 1
08 KD160219010 RAT EVO 2 REAR 142X12 1
09 KD161219014 R.AT.EVO 2 FRONT 100X 12 1
10 KD325919906 DCW CABLE STOP MECHANICAL 1
11 KD325919171 DCW DIZ CABLE PLUG 1
12 KD325919100 JAGWIRE CCNO15 PLUG BLIND (ETAP) 1
13 KD325918278 JAGWIRE CCNO09-1 PLUG (DI2) 1
14 KD325916165 JAGWIRE CCNO09 DI2 PLUG BLIND (ETAP) 1
15 KD325919903 IZALCO DT PLUG MECHANICAL 1
16 - M3 X10 COUNTERSUNK SCREW
17 KD199119009 FOCUS BOTTLE CAGE SCREW M5X 18 1
18 KD120420010 COMPRESSION DEVICE FOR CARBON FORK STEERER 1
19 KD120419010 ACROS ZALCO ECO HEADSET SET 1
20 KD325919907 C/S CABLE LINER LENGTH = 353MM 1
21 KD325919908 D/T CABLE LINER LENGTH = 40MM 1
22 KD325919909 LINER FOR REAR AND FRONT DERAILLEUR 1
23 KD150914001 RD/FD CABLE TUNNEL B/B 1
24 KD375920040 IZALCO SEATCLAMP COVER 9-/8-SERIES 1
25 KD110916004 NOICE CANCELLING TUBE 1

-
FOoOCUus



